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BAREM cls IX

Subiectul 1
2x+1 2x+1
<3x< +1
... 1 -
Conditia [3x] = xﬂ;- (1p) & 2 2x+1 : (1p)
EZ
2
2x+1 2k-1

:kEZ:>X:7(1p)

Dink <¥=2 <k +1 rezulta > < k <2 sik =1 (3p)

Solutia x = % (1p)

Subiectul 11

Verificam daca P(0) este adevarata. (1p)

Presupunem P(k) ,,A”: 3 - 52k+1 4 23k+1: 17 (1p) => 23k+1 = 17¢ — 3 - 52k+1 (2p)
Dem. cd P(k+1) ,,A”: 3 - 52(k+D+1 4 23(k+D+1 2 17 (1)

3. 52k+3 4 23k+4 — 3. 95.52k+1 | 8(17¢g — 3 - 52k+1) = 17(3 - 52k+1 _8q) : 17 (2p)

Subiectul 111
2015 = 5-13-31 (1p)
a’? —b?=2015 < (a+ b)(a—b) = 2015 (1p)

a+b=2015’{a+b=403’{a+b=155 {a+b

. . =65
Cazuri convenablle{ a—b =31 2P)

a—b=1 a—b=>5 a—b=13"

S ={(1008,1007), (204, 199), (84,71), (48,17)} (3p).
Subiectul 1V
a) Fie AGNBC={D}=D mijlocul [BC]
AN GD = ~(GB + GC) = GB + GC = 2GD.......coooooeicceeceeee 1p
AG =2GD D GB + GC = AG.....coe oo Ip
GB 4 GC — AG = 0 = CETIMA. ool Ip

—_— 1, — _
DY AD = 2 (AB + AC) ..ottt 1p
AG = 2D = AD = 2AG ...ooooooeccce oo 1p
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